NV
7N

& |

[T} ’
< FT-
( A  } - e
HEHhR
BADRER HEER 1 I :
BREBOAR HRED =1 0/9%0)
[“Edp-HhBK]

Bl LBV BEMETDHES
182 EYOBRREHE
......................... 6~13, 24~31, 40~49

T DEOIEB R EABES 1 4~31 EP%"LEEEED‘TCU)'I 00%

HYOEROIBREBER 40~49

e nomovomn HES EDAFI IR

di

18 SEXEHWEEZORMIH - 6~21
2B GURDIE oo 30~39 XS 7EEDHRIED SlF. TESORBREEVELES.
3% 7](?&;‘&0)1&% ................................. 40~49
4$ %g@:lk%g,ﬂ: ............................. 50~59

(4 - Hi3K]
Z BIIC IS, BIEE ADY )

T p—— @ DXRDEAI lat_?b* T ADESTL
158 AHOFELEHE BDEHBEBEBOABTZERLTCHOET . G
28  NILSEBHEARE [ClEF.ZNSICHRTDIERD 2D
3% WBEAMOZA| o 100%]DR—I%ZRUTHDET,
4T KHORBEBH @ CT=1! h1ERIE. WE ITRILE—]

T L] & Fiu“n-‘ﬂgim D2@hiHb. FNEND

B4 kTN RNR—IDWRUTCHDOERT . MgEddE
15 KOME 68~77 EOXR—=IEGORITEALTLEEL,

2% %@IEE ......................................... 78~87
3% 7']0)517":53 ................................ 96~1 05

g <b A iRk

& %
ZIN4



A
7N

& |

EIFEE RREHE
RKEANOBHBDYALIVR 1 iR FULEE 1
HREORE BB 100%D HRBEORS EREH7285100%0D
N—= =
(4 #hEk] [4E - #hEK]
EIADBICEH SNBE R oo 6~13 H5E1 VLWALWAREMETOES
@ VALALENETDR/ER BT EMOBREEAHROULAT - 6~13
12 FEYIDIFEEDEE -oeeeeeerveseeeesnnns 14~31 DI FEYID DL veeveeeeresmsmnssninins 14~31
DE Y DIFEEDEE e 40~49 IOl /L7 1) - L 40~49
(4 #hIk] (& TxILF—]
IR FE TV SR Ex2 HOFEHYOWMHE
1B BUTRAH wovverermveessssmmnesssssnnn 56~65 E1E BOEDYOWEEEZDOME - 6~21
28 Whoki 76~87 BE2E  GUADMER oo 30~39
3% K%’:«S\<kiﬁ1 .................................. 66"’75 %3% 7}([@/&0)&% ............................. 40~49
45 EDHKH 56~65 EAE MEOREREEAL oo 50~59
8 TxIF-] E - TRILF-]

PE HOEDYOYHE

18 OBNBLYEET DR
WAWABEEEDRE
7](}‘?&5&0)'&% .................................
PEOT DI LT DT

N

5w
L

(8- TxILF-]
IFF¥— R-F-NEBBH

SI=E A Tl -3 3 - RO 68~77
P Pl 7 3 - RSOSSN 78~87
BE FICEBIRGR oeererererrrnieeennienns 96~105

ERx3 HOEHYDOHR

HT4 KOEL
BIE KEI<KH

BOE  BYRAE(F DA - oerreerererererrneenne 76~87
FIE HWEDOSHALDHAMDEIL -56~65

ABFESE FIRES
EROtR 1 thaiy  FE
BREONE EREDH100%D BREONE ERED725100%D
= =
(4 - #hIK] [ Hi3K]

BT EMOHR 1-1 BENOSSE
ST 2Tt L S 6~13 AT P T) - D 6~13
DEE FEHPDIRIVTE evreereerersrsessrssmssenenne 14~31 = T 10 R 14~31
BE  FHIDIRIE oovererererersesnsnsnsnnnns 40~49 Tl /L7 1/)F & <= R 40~49

& TxIF-] & -TxIF-]

B2 MBOTH 1-2 §0OFbYOME
1% L\%L\%E%E ................................ 6~21 %1% %go)ﬁiﬁ ................................... 6~21
28 TURDFEECHER e 30~39 B2E MTOETINEDEOHE 30~49
B L - - A 50~59 BIE MFOETINEIREBEAL 50~59
45 KBER 40~49

& - TxIF—]
& TxIF-] 1-3 BOFEFHLYNHS

Bn3 mELWIERS E1E
18 ROMH 68~77 E2E
28 FOMH 78~87 E RS
BE  NDIFIeHE e 96~105

[ H3K]
(4 e Hi2K] 1-4 KHiEE)

Bxd4 XHoOXfk CAE P 66~75
182 Xl 66~75 E2E HWE 56~65
28 HE 76~87 B3E R 76~87
38 HfE 56~65
D e O F ) LT 76~87

J
R7

& %
2N



